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Good morning!

I'm going to start with some grammar terms; by the way, the
word term has more than one meaning:
The first term (semester) Jo¥l Juadl
Dictionary of legal terms (expressions) cisliuaa
Now, I want to talk about gramumar terms. What we meqp
by (phrase, noun phrase, prepositional phrase, clause, finite
verb, non-finite verb)
Oe ST Lol term als) aclgill o cilaluaall yasy dbaysly §palaall fal,
(isg
1- Phrase: I'm going to define it in 2 ways: Bl
a) A group of words without a verb
J=a (992 cilal<ll (ya degasa

b) A group of words
cilalSIf (pa degazay 6)lunll vy Lii<a, gf

FEx: A very old woman

1 teach English at university.

- Where 1s the verb? Teach.

- How many words 1s it made up of? Single word.

Lx: [ have been teaching English since 1992,

Here, the verb 1s made up of 3 words; I can call 1t “verb
phrase”.
098 b (djalai¥l ) el yass b OSI g layda Jill Laud (9<s Jasll Yoz

daled 8jlac i g Jlail degana (pa 8ylusll alfT alih i< of (yTal€ (o il

* % %

P.S: don’t confuse between verb phrase and phrasal verb.
2- Phrasal verb: is a compound of verb + certan

preposition.
Ex: I can’t give up smoking.(stop) -
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I'm looking for 2 Job. (searching)
f.’]ease, ]09]( alter the baby. (take care of)
E“Pd“@b'd&é%‘%s)d'dﬂ')ﬁﬁﬂldaﬂlgaghﬂl Sylaell (uy fghalass

* % %

3- Noun phrase

Itis a group of words in which the key word is 3 noun.
Ceal” laud daalisall dal<I] slal<]) (= degasg oD
What do we mean by a keyword? )
A keyword is the word that can't be left out or deleted.
.ﬂ@l@hﬁhﬂghﬁc&,ﬁﬂlm&ﬂﬂa&&@aﬁamaﬂanﬂﬂ
If you are at home and someone knocks the door, your
small brother went to the door, opened it, came back to you
and told you:
"An!" Would you understand anything? NO
"Old!" This would not give you any information about the
person at door.
But if he told you 'woman', you would immediately

understand who is at the door.
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clpal ale g andi g jliall clight asf gas)d ldl Gxb 9 el (b ig o) 3y,
lall e (pa chysiaa 3ydtlan "3l pal" el JIE 13] OSI Y Sepds ol ot g v
This is what we mean by a keyword. A word that is very
important and we cannot do without it.
Lavic slisiulll oSy Yg laa dama dalS o dualisall dalSIl agiei Lo 3

* %k

What do we mean by a prepositional phrase?

4- Prepositional phrase: is a preposition+ noyy
phrase: a noun phrase which begins with a preposition.

ENE JERY RV PV 3 PN
So, a noun phrase which is preceded by a preposition is
called a prepositional phrase.
gl ojliry ja oy dSguuall daauul ojlusdl &,n..m Oal
Fx: In the supermarket
In the new mall
(in) 1s a preposition + (the new mall) is a noun phrase = a
prepositional phrase.

* k%

5- clause: A clause is a group of words with a verb.

J=all agag e clal<ll (o degana (ye 8)lic dlanll
In English, we have two types of "clauses":
Independent Vs. Dependent
lasausi @l laline Ol @ loajias Gili ¢ gabaius Jaa @ Jaall ga Gucos Ll
dependent ausig )il dlans ¥l laliza wis ¥ (ydlg independent (main)
.(subordinating)

# an independent (main) clause: a clause that can stand by
itself and gives full meaning.

———— /
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.hd}ﬁﬂ{@h()i@gdﬁﬁéﬂ.ﬂ@&lﬂ;ﬁgﬁwl dlaall
Lx: I live in Damascus.

# a dependent (subordinating) clause: a clause that cannot
stand by itself and does not give a full meaning. It needs
another sentence to complete its meaning.
&ﬂ'ﬁgﬁdalsvmumxgm)@ushOiosqmue?maymlmgl

) ) Lalina puingi < dliiun (gyal dlaal

Ex: Because I was il

While we were driving,

G s Alaall i isall iy (S (Al dlaa Ul plind g JaT<s ol lia isal
" Liasya SiiS
The meaning is not yet completed. To complete the

meaning, I should say:
Because I was il], I did not teach last week.
While we were driving, we ran out of petrol.

Main Subordinating
Can stand by itself Cannot stand by itself
Gives full meaning Does not give a full
meaning
I teach English Because I was ill,

* k%

=»Verbs in English are of two types:
Lalaipll b Jl=ddl (pa Glegs ellia
1) Finite verbs
2) Non- finite verbs
Before I explain anything, sometimes with certain terms in
English, the Arabic translation would not help. It does not
give us any idea about what we mean or what is meant by it.

——
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g Lin awyall laiaayi glalus § Sill et aalll oo clalluas s L
saclill o b yoisSyl daa ydiu Lad. LuolS Lo g |ypesssd 8'i ,“,_b.a_n" ¥ Lavils Lavian iy Liag
) (.fmm,ﬂlaiug'a@pmuugammﬁ,u ,

Try to understand what -+ means regardless of what we call

it in Arabic. o
Auysll dxlll 50 laiasyi e ol pas izall @ad lglgla
6- finite verb:

A finite verb has three conditions:

1. It comes with a subject
9. It has agreement with the subject

3. It shows tense

:1ng ;b &3 ol fimite verb Ji¢?
Jels ga iy .1
Jelall ga Gilgs asal 9
Oaj yalbay .3
nExplanation of one by one:  :lagled i S 2t
1) It comes with a subject
You might ask: may a verb come without a subject?

The answer 1s yes.
gl!“’-"‘iu-:‘-.'?i-ci}') Jels g Jab aagy Of (<aall 9o o g padd Jsluily 45
s o Al g (Jpaall
Ex: to join the university, you have to take an enurance
exarn.
Juil) Glaiod guinil] ule dalall 79 fapautl]
Seeing the door open, the thief got into the flat easily.
gy ALY Gyl Jiu o215 AEg ) gyt
So, where is the subject of the verbs "join, seelng ? ‘
fUaall oda i Jelal o

2) It has agreement (concord) with the subject.

Agreement means Jelall ga Galgs «dsalga /
|5 e : A
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Sg, when I use a singular subject, I have to use 2 singular
verb such as: She is /she pas. Ydallp gasl .6 Goloilly ,ic/

And when using a plural subject, T have to use a i)lural verb
such as: the boys are/ they have....

3) It shows tense.

So, by looking at tl'le verb, you can tell the tense. When 1
say the boys are DPlaying, this shows present tense.

Al sl ol Lasic Jia Jaill iy Al L (ol dayna gubaius

When I say Ae was swimnming, by looking at the verb of the

sentence, we can say this is past tense.

* % %

7-non-finite verb:
It is the opposite of a finite verb, In English, there are three
forms of verbs which we call non-finite.
o s i Gl it s g
1)to infinitive (to + open)
We have infinitive #with to / # without to
This one is with to.

The teacher asked the student to leave immediately.
Which one of these two verbs is a finite verb? Asked

because it shows tense and comes with a subject
inj yalal Al J=alf Sfinite ¢aleall (1 ol
Which one of these 1s a non-finite verb? To leave because
one of a non-finite condition 1s (to+ verb)

2)present participle (verb + ing)

For example: Ae 1s smoking a cigar

- why didn’t I call it gerund? |
In the previous example, we used “is” before the word

“smoking”. You have to know that if the word was preceded

by (verb to be), it’s present par tiCiPleg .,
But if I say: smoking is a costly habit. Here, 1Us a gerund.

%% £ (.).’
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G 241l Lo aul ga gerund i ¥ dsbun Sgerund - d-fﬂl“lm e ¥ Lal
(5acluall Jleadll) OoSIl JLesly lBgrua (o oy
3510 Bale Qudaill iliall daa s
3) past participle (V3 . .
For example: she had_whispered the answer 1nto his ear.

* % %

sssnon-finite i finite LS 131 Y=all d3y2a (1o daall Lo
Can we give a definition of sentence?
: dlaall lagye ast O pabaua o
A sentence is a group of words in which we should have at
least 2 elements; one subject and one verb.
Mab g el J5¥I le 5937 oilalS degana ,a dlaal
If we take this definition, when I say “at least” that means
these 2 elements became compulsory/ obligatory.
oS Gaalil] Gupaiall (uia Ol Gisd "YSY) le" dalh chayeill Jia Laatel 1)
) ) Laaie (il (3Say ¥ of dlanll s
If we take this definition and say: I Jearning English. Is this
correct English? No.
dosnua dlan Agjladdl Gupad Ll dlas oS Of mnd Galuall day=ill Liaatel of
LA @aluall s yeillh dhl Laicl
So, the accurate definition is: a sentence is a group of words
in which we have one subject and a finite verb.
finite g aslg Mol g9a3 il ClalSl degasa gan Alasll Guiall chuyeills 14

verb

Example:
Snakes bite.

Rain fell... heavily last night.

Birds sing... beautifully in the morning.

(even if it was made up of two words, it is a full sentence)
sentencesy! glodl ge daailu Ga¥ gup b

* % %
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Jg3l Sinall ol U'° lasingl o 131 jgal & Ay (i
We know that there are 8 parts of speech; in the sentence,

if we have more than one adverb, we should put them in a
certain order.

It happens that we have more than one adverb:

- Adverb of time: either you begin or end the sentence
with 1t.
& Ex: last night, the children played computer games.

& The children played computer games, last night:
- Adverb of manner:

& Last might, the children played computer games quietly in
their room.
920 cutlyi 6 laveind f inus Aanll (6 ogslh busc Ligal IS ol (j9alei LaS &%
Al puinga 90 LaS guaual) wariyllf
The order of adverbs: either
1- Adverb of time.
2- Adverb of manner.
3- Adverb of place.

£ Or 1- Adverb of manner. 2- Adverb of place. 3- Adverb
of time.

- Student: can’t we start the sentence by saying “in their
room,...” P
Ui dale Litallal a3 Lac Lalida chgylall arliy GoSs a8 Gladl yasy b sl &
GAT eyl Joill galaiuns
- Professor: firstly, this order 1s a rule, but there is
something we call “focusing”; we will talk about it in chapter
2. If you asked me where the right place to put the word
“sometimes” is, Ill say after the subject and before the verb:
I sometimes, drink a cup of coffee in the morning.
b die EaaTiu "juSill" agaba aagy OST g Sacld 9 aiyS gull iyl dylay s
;_9_3 ails Jgiha "Glal" ZalS giagl crwliall Glall Y| giﬂLu ol Mias L“,.EL?.H Sinall
: sometmes delS e sgall daslud 1yl ol (<l J2all Ju g Jelall
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Sometimes, I drink a cup of coflee.
I drink a cup of coffee, sometimes.
asle sgunll dalus ae (9<s ad s s S

Preposition:

Prepositions in English are limited in number; some
grammar books say we have about 102, 104 prepositions. So,
relatively speaking, it’s a small class of words. They are very
mmportant; a lot of our mistakes in English are about the
wrong use of preposiions.

Prepositions are usually divided into 2 kinds: either single
preposition “in, on, at” or compound prepositon “in front
of, along with.”
1Al .dpa 104 of 102 Jlga Lails Jgii aclgdll i€ jagy aasll sagana jall byl
sy o &l G LiflaA] plina g laa dama ;09 8jutua dcgana b ple Yy
S0 gy of ayda ciya Laf (aegd Gl gall dipal uii gall dpaY LAl alaiiud

[(dcgana)

Ex: I depend on you.

I believe in your abilities.

Jzill sise i ! dislull AliaYl 3 phrasal verb yb sguasall 1ia Gl ilay
oizall @il dadih oo yall hya casy

Ex: I can’t put up with her.
Lﬁp&n@aiﬁg&bﬂgm&,lm‘}”daﬂlulmo‘}!dnﬁd&’@daﬂlulmﬁﬁﬁm

(Jaaiy) izas ol

We ran out of petrol.

Determiner:
The word itself is taken from the verb “to determine.” It

gives us an idea about what it means; they are used with
nouns. Determiners are words which determine the 1dentity

of nouns and they are of 2 types:

ﬁ[alanwar.us 10 | m '
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. - ’ | § Yo e T . o e
go wiysill Silgal padiud davisalhg (e 8)<6 Lishey gang (aaa) Joi (ya dgala @ud]
| (0)5:' 9l aﬂ)ﬂ-ﬂ) clas™l odm dagm aaal a0 |uan ;l.n.i.u‘!l
1) Identifiers: they give an idea about the identity of the

noun. |
Mobile phone
The mobile phone
My mobile phone
2) anﬁ@rs: they give an idea about the quantity.
e Buana yué of Basaa (99<i Ol Laf ;2 Olegs Lol dgasl) culdyna Ll
Ten books (I know certain number)
Several books (1 don’t know the exact number)

* % K

Conjunctions:
As I said, conjunction is a linking word. In English, we have

2 types of conjunctions.

(duye dasyi wu@)&bﬁgilmjgbg)ﬂﬂldsgm@LMMLnSghﬂaﬂldpi
1) coordinating conjunction (coordinator)
9) subordinating conjunction (subordinator)

G2y Juadilly pasyile Later on, We will explain them in detail.
(6 Eaaall)

my car. I walked to the station.

If I say: I parked |
I parked my car and walked to the station.

“,nd” is coordmatng conjunction.

Because I was 1ll,
“because’” 18 subordinating ¢

onjuncton.

* % %

e now to the second part of chl:

structure” _
lgc" Jodll cuasll &2 Al ouihl] 1) QY JALLS

We mov

“Flements of sentence
nalasdl gl Je

VY



; 5 functions: |
= In English, there are ﬁ"—’/u, il g il 5 2l

1- Subject.Jelall

9- Object.as Jg=iall

3- Complement.dlaall daTi

4- Verb.J=all

5- Adverb.waall

We discussed “verb & adverb” under parts of speech. So, I

will not repeat. '
Jeall (e LBabw [Gaa5

e BICUVIRKY Jo¥l fauill b byl g

* %k k

Ex: Sami teaches English at school.
To which part of speech does 1t belong? aiis @il G« £)2 ¥

Noun, but this noun in this simple sentence has a function.
Jelo 'UJLua U'° aiailhg o2 Lad daslhg al gurdl laa (Sg cslauusdll

What is the function of this noun in my example? Subject
This is what we mean by function. diag dal<y asisiLa laa

Sami | teaches | English | At school
Noun Verb | Noun | Adverb of place | Noun

Subject Verb | Object | Complement

* % %

Subject: a subject is a doer (the one that carnes out the
action). We are not always talking about a person; it may be a

thing which carried out the action.
IS of Ladds Jelall 1an (9 ¥ ud g (Jall daiy gill) J2ally pgls (e g sfelal]
ety gl Bals BlalS L (5g<u aBa

* % %

Object: when the action is carried out, it falls on the object.

i 3
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This is what we mean by ap object; an object is needed
when we }‘1ave a transitive verb—a verb that needs an object.
gasiall Jesdl ey Jomaall Gle g8, gma (gustiall) Jill duss Lasic tas Joriall

©(d&°d4,3ﬂa‘d4jﬁle,d.1a).muu,q1ggd9m@gam ol &

I read a book. o

[ hit the wall.

Some verbs, like in Arabic, take 2 objects, and we call them
“bi-transitive.”

Gl ST aust (pulgeie ] plind duspall Aall aS Jlasd oy

1 gave my mother a present on mother’s day.

My mother: indirect object

A present: direct object.

There are 2 kinds of objects (direct/indirect). The rule says:

If you put them in this order: starting with the indirect
object followed by the direct object, there is no need for a
preposition. If you reverse the order, you’ll need a
preposition.

& a3 Jgzially Lilag gl Suclill Joii (plan i g pilsa) ay Joriall (3a (legi llia
il 12 LuuSe gl §S g Lasving o djad dala Ma pdiliall ag Jomaall asgi g pdilsall
ot dlanll gualt i ja dyad pliniid

1 gave a present to my mother.

* k%

The complement: from the verb complete, a complement
i1s used to complete the meaning. It 1s usually used after

certain verbs.
Verb to be (is, am, are, were, was)
Verb to do (do, does, did)

Seem, look.
Gule @aAtuli g dlaall ize @i Of laidulhg g (Jay) Job e diidia :dlaall dal
09Il J28 Jia JRsY jany Ay

He is out



I'm a teacher.
She seems happy.
Happy is an adjective and 1ts function is complement
dlasl & ““Umm;bgus_lgmum "Ainu" dalS

A teacher is determiner + noun and also they are

complement.
- What is the main deference between a complement & an

object?

- The main characteristic of an object is that 1t can be at
the beginning of a passive sentence, a complement cannot.
Joasall Girall dlaa &lay 6 asladiul Sy &l s Jomaall daluardl duunlAl)

dgmﬂugdldmmlmunﬁmuluﬁthdlnﬂl&nﬁhl(d.anSu..\M)

Complements are of 2 types:
dlaall daiil (legs | RY.

Ex: these oranges are delicious.
You agree with me that there is a strong link between these

What is the function of “oranges” in this

two words.
sentence? Subject
So, delicious is a subject complement.
dali go dg}” eoidl 1Al Jelall g dlasll dali (o Guig ol U.l.s‘.}” U‘° Jlall Lr°
Jelall

Ex: the children made their father angry.
Who is angry? The father: what is the function of father in

this sentence? Object
So, angry is object complement.
s Jomiall daTi o<y g dr Jomially dasiy La gad Al ggill Ll
So, we have: )
1) subject complement
2) object complement.

o
¥
———
>
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aalall 8pall buarls il o<ia Y OIS gl Yol dinll Luasi Hoi 13<a
Gl Gl Al daakia Y pSalacluig

* % %

In this world, we have about 5000 different languages. If
you want to try and classify these languages,
v Writing direction: when we write English, we write from

left to right, whereas we have languages like Arabic where we
write from right to left. This is one classification.

v Form: Another classification is to say that some languages

use letters: we have the alphabet. Some languages use signs,
symbols or whatever.

v Word order: A third classification: some languages, and
Arabic 1s one of them, the main structure of the sentence is
that you begin with verb followed by subject (V + S). When
you translate this into English, it’s subject followed by a verb

8 +V).
lan o ALl (e wgasll cllin Ogalsl LaS whinll 13a b JoI puill (e Eraatil
P _us.. lacasid clelll oda vaviua’ Jglad i Liayl gl dalida 481 5000 (liga ollell
g ol ol ol (3 IS 8 i 5 125 5 ramall 1] sl 1o Bt 2400
el At Gyl aal ol
Vo (<lg dgansdll padiu ol Mad @l wuad Gyb e 9o JAT dbrial
)Ll g joapll @adtari gy AN clill)
asuiy (J2a) dlaall gliy caiyi (9<a Lakas] duysll g clelll Gasid il dubatlly Lof
(b asiy Jeld) puais dojulail &30 11 1aa dasyiy @gfi Laaie (<g ((Jeld
£1I'] say something like: s 1]
- a policeman shot the thief. Glul e Jlill oyl Glof
# (here, we have policeman who shot the thief)
& Gl Lo Jall Gliaf (1 g Lids hayeal
&1 T say now: g3 «us 13] o<l ‘
- the thief shot a policeman. Harisl! e Jil Gyloul) G161

M 15 3374\
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&5 (here, we have the thief who actually shot the policeman)
sl le il Gl 30 9o §)lusll Lis 5

As you see, when I changed the order of the words, I

changed the meaning completely.
JalS Yy dlaall yire yush a8 SlalIl cardyd Syae Laiis gy Las

So, we can conclude English as one of these languages
which are called word order languages. Other languages, like
Arabic, use inflection to explain the meaning;

;la.LvJ/ oulic (1o 7/ i Laif
ol (pa gty slalell S¢ra (o ilida (0

So, regardless of the order of words, I can tell immediately
that (ai) is the object and (elatall) is the subject; we call these

languages inflected languages.
We'll talk about them next week.

khkhkhkkkdkkhkkkdhkdkhki

That 1s all for today
Thank you very much
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